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( 2 Hours ) ( Total Marks : 60 ) 

N. B. : 1. 

2. 

3. 

All questions are compulsory. 

All questions carry equal marks. 

Draw neat diagrams wherever necessary. 

 

 

1. Answer any two of the following :       15  

 a) Explain the concept of labour market and bring out its features.  

b) Discuss the theory of Human Capital. 

c) Briefly explain the costs and life – time benefits of education.   

 

   

2. Answer any two of the following :       15  

 a) Discuss the determinants  of labour demand.  

b) Briefly explain the theory of labour supply. 

c) How does the employer maximise utility given the resource constraints?  

 

   

3. Answer any two of the following :       15  

 a) Explain any two theories of wages.  

b) Bring out the reasons for wage differences.  

c) Explain wage and output relations in India in the post –reform period. 

 

   

4. Answer any two of the following :       15  

 a) Explain the linkages in labour market.  

b) Comment on labour market flexibilities. 

c) Discuss the impact of liberalization and globalization on labour market in India.  

 

 

______________________ 
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( वेळ : २ तास ) 

                                                                           

            ( गणु : ६० ) 

सचूना  1. 

2. 

3. 

सवव प्रश्न सोडववण ेअवनवार्व आह.े 

उजवीकडील अकं पणूव गणु दर्वववतात. 

आवश्र्क असेल तेथे सबुक आकृत्र्ा काढा.  

 

1. कोणतेही दोन प्रश्न सोडवा:         १५  

 अ) ‘श्रम बाजारपेठ’ ही संकल्पना स्पष्ट करून वतची ववैर्ष््टर्े मांडा.  

 ब) मानवी भांडवलाच्र्ा  वसद्ांताची चचाव करा.   

 क)  वर्क्षणाचा खचव आवण आर्षु्र्भर वमळणारे लाभ थोडक्र्ात स्पष्ट करा.   

   

2. कोणतेही दोन प्रश्न सोडवा:         १५  

 अ) श्रमाच्र्ा मागणीच्र्ा वनर्ावरक घटकांची चचाव करा.   

 ब) श्रम परुवठ्र्ाचा  वसद्ांत थोडक्र्ात स्पष्ट करा.    

 क)  सार्नसामगु्रीच्र्ा मर्ावदा लक्षात घतेा श्रम मालक (employer) कमाल उपर्ोवगता कर्ी साध्र् 

करतो? 

 

    

3. कोणतेही दोन प्रश्न सोडवा:         १५  

 अ) वतेनाच्र्ा कोणत्र्ाही दोन वसद्ांताचे स्पष्टीकरण द्या.  

 ब) वतेनातील फरकाची कारण ेमांडा.  

 क)  भारतात सरु्ारणा नंतरच्र्ा काळातील ‘वतेन आवण उत्पादन संबंर्’ स्पष्ट करा.   

   

4. कोणतेही दोन प्रश्न सोडवा:         १५  

 अ) श्रम बाजारपेठेतील साखळ्र्ा स्पष्ट करा.  

 ब) श्रमबाजारपेठेतील लववचकता र्ावर भाष्र् करा.   

 क)  उदारीकरण आवण जागवतकीकरणाचा भारतातील श्रम बाजारावर झालेल्र्ा पररणामांची चचाव करा.   

 

______________________ 

 


